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Thirty-six thousand — OO TR 2

Overview

773 M in the X132 teaches us that thirty-six thousand qn3 *¥1%1 went out to
the 7% of a7 791 mopIn. Our NN explains how the ¥n*92 derives this
number.

£997 990 20901992 1Y
The X w23 of the word %' in the P09 of "\na 17 Wy 720 is equal to this
number of thirty-six [thousand].

Summary
The ®n>>92 understands that there were thirty-six thousand fn> *¥1%1 by the

7Y of o1 since the Xwn3 of the word 17 is thirty six.

Thinking it over
How does the Xn»72 know that it was thirty—six thousand; perhaps it was
just thirty-six or thirty-six hundred?!

" Others say that Moo is bothered by the expression w1 2°wow. The Xn3 in X,73 X2 n2on (see *"wA there
a1 73"7) states that 777 " would first count the 019 and then the 9%5. Therefore he should have stated here
w1 ww. The answer is that in the word 17 the thirty precedes the six. See n"nX.

% There is an observation that the word X% is a combination of two Greek words »°3 (or gamma, the
third letter of the Greek alphabet [similar 212 wTp 12 2*7277% to our third letter — '3]) and X>v (which is the
number three). This indicates a connection between the order of the alphabet letters and their equivalent
?umber. [It is not clear why they chose the third letter and number three to indicate this connection.]

* See n'"m.
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